
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

   

   

   

Installation of change side    

Installation of brake side 
    

10 

1 2 3 

4 5 6 

7 8 9 

GILLES TOOLING   VTR1000F  ´00  INSTALLATION MANUAL 

11 12 

 

13 

Rubber bush 

Aluminum collar short 
Flat head 
bolt M6 ×
40 

STD.collar Flat head 
bolt M8 ×
40 

M8washer( thick)  

Button head 
bolt M8×20 

Left pivot shaft  
collar 

Button head 
bolt M6×15 Button head 

bolt M5×8 

Flat head 
bolt M6 ×
15 

Flat head 
boltM6×50 

Flat head 
bolt M8 ×
20 

spring 

Flat head 
boltM5×10 

Button head 
bolt M6×20 

Flat head 
boltM5×10 

Copper washer 

split pin  

Adapter pin 

 

14 

Right pivot shaft cover 

Same way with 2 

Switch  holder 

Aluminum collar long 

STD collar 

Button head 
boltM8×20 

F:/Produkte/1_AS 31 GT/32Honda/H07 


